CLASS : 12th (Sr. Secondary) Code No. 5613
Series : SS-April/2022
Roll No. SET : A

T

GEOGRAPHY
HT-1
PART -1
(sTrts mee)
(Subjective Questions)
ACADEMIC/OPEN

[ &=l ud oSl Hregw ]
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

77T : 2L g72] [ g% : 60 (AFT-1 : 30, AFI-II : 30)
Time allowed : 21 hours] [ Maximum Marks : 60 (Part-I : 30, Part-II : 30)

ge-9= & AR # i ¥ : A1 (STES) w6 - (ﬁ%ﬁqﬂmaﬁtﬁwﬁ%nﬁ
% I B AU I YR § @ 81 990 B OAFHL AT B W Ued SR-gRas
3 e fRar o qur AE-1L % e SRl @ uw €2 @ Wy A Sem srafg wher we
BN % geT qd qdemel St w1 & geE-us Rar smem

-1 % 999-99 & g 10 U @& 9FHII & J¥9-T § Fo 30 U 2

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 10 and of Part-II are 30.

o P I F T B G 5 99799 § GRa g2 4 a9 797 10 8

Please make sure that the printed pages in this question paper of Part-I are 4 in
number and it contains 10 questions.

5613/(Set : A)/ | P.T.O.
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(2) 5613/(Set : A)
T97-Y5 7 qle &1 @ AT 79 T4 #S TR T @ B G F-YEIH % FI-IT T [0G)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FYI T H T[0T @ 7 7 e, JIT B BHH AT (1G]

Before beginning to answer a question, its Serial Number must be written.
FACGaH & & 4 @l g1/ 91 7 851

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SIfaRET @ o e T& A ST sleaEdgar & @ siv frar gav T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gereff sTaar T To FIT-UH T 9T [ord)

Candidates must write their Roll Number on the question paper.

Gy 497 F AT 37 @ Y@ 98 GEa F o [ 9T U 7 T8l 8, qOer % IYUT 59
G 5 g 4 @ w@hwre T A am

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :

(i) & FoT SAvar &

All questions are compulsory.
(i) HEF FIT & 37F 3B QT a9 TT 8

Marks of each question are indicated against it.
(iii) 3TY% FAT STEITAT &7 T

Your answer should be according to marks.

5613/(Set : A)/ |
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(3) 5613/(Set : A)

1. Teq F1 8 7 2

What is Tourism ?

2. ‘T fog afaar @ g ? 2

What are 'wet point settlements' ?

3. SEE gfs W R #ea § 7 2

What is growth rate of population ?

4. HAq N9NT [AHE H GHIT Bl IRANT BRI 2

Define the concept of sustainable development.

5. HMG & IRBiehol &l AT i 3

Explain Naturalization of Humans.

6. 9IRd & [ Toul & fasna i SHEEn ® 7 oWl fasne I e & e Saet
0% HRI A [y 3

Which States have large rural population in India ? Give one reason for such
large rural population.

7. IRET TR F1 B4 & ? 9h 99 HE e 2 7 3

What are Garrison towns ? What is their function ?

8. T ol F1 8 ? WRA & TG A ol el @ AW | 3
What is Nuclear Power ? Mention the important nuclear power stations in
India.

5613/(Set : A)/ | P.T.O.
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(4) 5613/(Set : A)

9. Siichehid TWHHY TG bl 7 FTESAT il fer=r i 5
Describe three stages of Demographic Transition Theory ?
SLE|
OR
ue famE & e W H IaTeROl |ied dvie it

Describe the four Pillars of Human Development with examples ?

10. 9Rd &l SFEE 89 Bl ToU-T0d [y $3 5

Analyse State-wise population density of India.

CLE)]
OR
qRd & A= 1 aRardt & Arifers foaeer &1 fqewer fsm

Describe the geographical distribution of different language families in India.

5613/(Set : A)/ |
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CLASS : 12th (Sr. Secondary) Code No. 5613
Series : SS-April/2022

Roll No. SET : A

T

GEOGRAPHY
HAT - 11
PART - II

(g 9%)

(Objective Questions)
ACADEMIC/OPEN
[ o=l wd sl A |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

o FUA FT F T [ G % 59 J97-97 § FRT g 8 T4 797 30 &

Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 30 questions.

o gheEreff 7T T To FIT-UH T 9T [ord)

Candidates must write their Roll Number on the question paper.

o U F97 F FAT &7 @ g7 98 GARGT FC A [ G797 {7 T Fel 8, qher F YU 59
T 7 g 4 arar w&hHN T8 RAr Aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G (7397 -
General Instructions :

() @ g7 IEar &

All questions are compulsory.

5613/(Set : A)/ I P.T.O.
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(2) 5613/(Set : A)

(i) 597 F@T 1 & 23 % FGAEBHAT F97 81 RT TG AT fFwed § @ g @l Fav g

797 GEr 24 G 30 7% aegiTS Fo7 81 J9% H AT GF A & A= T AF H
dforg1 9% 797 1 3% @ 81 §el FAT A Fae-greaH 4 [

Question Nos. 1 to 23 are multiple choice type questions. Choose the one
correct answer from given four options. Question Nos. 24 to 30 are objective
type questions. The answer of each question may be given in one or two
words or sentences. Each question carries 1 mark. Write correct answer in
your answer-book.

1. Frfafed § & &9-91 999 0 & ST 787 & ¢ 1
(A) &= ol (B) HETHH I
(C) wnih e (D) 3TN &R Ui
Which one of the following is not an approach in Human Geography ?
(A) Areal differentiation (B) Quantitative revolution
(C) Spatial organization (D) Exploration and description
2. e Ta-Faidare ®1 gidure fear ? 1
(A) Bty I (B) =W
(C) & (D) R
Who proposed the concept of Neo-determinism ?
(A) Griffith Taylor (B) Blache
(C) Huntington (D) Ritter
3. Frefaiad # & SF-91 U foxa Saer am & 787 ¢ ¢ 1
(A) TR (B) HEAEE Yaq
(C) afRrr-gd ufRkrr (D) gdIF gast
Which one of the following is not an area of sparse population ?
(A) The Atacama (B) Equatorial Region
(C) South-East Asia (D) Polar Regions
4. IR Fifa & @99 fawa saen B 8 ? 1
() 30 %3 (B) 40 &g
(©) 55%3 (D) 60 Fs
What was world-population at the time of Industrial Revolution ?
(A) 30 Crore (B) 40 Crore
(C) 55 Crore (D) 60 Crore

5613/(Set : A)/ I
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(3) 5613/(Set : A)

5. Frfafad & @ SF-d 9@ Saen & HEsi g a1 & A B o ¢ 1
(A) 15® 659 (B) 15® 66 a4
(C) 159 64 a9 (D) 159 59 a4

Which one of the following figures represents the working age group of the
population ?

(A) 15 to 65 years (B) 15 to 66 years
(C) 15 to 64 years (D) 15 to 59 years
6. f=fafad § @-91 a1 == Ad R arr 787 § 7 1
(a) T (B) ewtwerET
(C)  SaH (D)
Which one of the following is not a country with high human development ?
(A) Norway (B) Argentina
(C) Japan (D) Egypt
7. G A FN HEAR 8 1
(&) =H BT (B) HRERT FH
(C) i P (D) g
Growing of flowers is called :
(A) Truck farming (B) Factory Farming
(C) Mixed Farming (D) Floriculture
8. =1 7 @ -4 3N & YR & fasbrd gUd SAufafres Tgl s fea o ? 1
(A) Bl (B) HTIEA
(€) ffe (D) qwT F

Which one of the following types of cultivation was developed by European
colonists ?

(A) Kolkoz (B) Viticulture
(C) Mixed Farming (D) Plantation
5613/(Set : A)/ I P.T.O.
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9.

10.

11.

12.

(4) 5613/(Set : A)

fFrfoiad & & SH-91 T qaids Bhaedd © 7 1
a) @ (B) T

(©) =R (D) emEe

Which one of the following is a tertiary activity ?

(A) Farming (B) Weaving

(C) Trading (D) Hunting

Frt & @ forq @R &1 Sfaal a9, T a1 TeT & fFIR e © 7 1
(A) FAER (B) =% T

(C) (D) &R

Which one of the following forms of settlement develops along either side of
roads, rivers or canals ?

(A) Circular (B) Cross-shaped

(C) Linear (D) Square

foeprasiiar 29 @ SEE & A ord & (9 Ud STasamdiel B i § -8 TR
% TEE erw § 7 1
(a) foxi (B) HFdE

(C) s (D) |

Sufficiency of which type of resources can help to create adequate social
infrastructure catering to the needs of the large population in the developing
countries ?

(A) Financial (B) Human

(C) Natural (D) Social

fretfeiad & | SF-81 06 G998 9T | s qoE 998 § 7 1
(A)  #-feresreh (B) oiRsF

(€) it ot (D) s

Which one of the following is the largest language group of India ?

(A) Sino-Tibetan (B) Austric

(C) Indo-Aryan (D) Dravidian

5613/(Set : A)/ I
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(5) 5613/(Set : A)
13. 9T & Fr=tfomad T § § e T § 0- 6 g & & ==t 7 7 orgur fetam 8 7 1

(A) TR (B) ST
(C) = (D) fuEd JasT
Which one of the following States of India has the lowest child sex ratio O — 6
years ?
(A) Gujarat (B) Punjab
(C) Haryana (D) Himachal Pradesh

14. Frefafad 3§ @ &9-91 TR 98 9 W faled 78 & ? 1
(A) ST (B) e
(C) s (D)  HIciebrl
Which one of the following towns is not situated along the bank of the river ?
(A) Agra (B) Patna
(C) Bhopal (D) Kolkata

15. Ffaied § § S fhd SR & d@6ed & 7 1
(A) 3o GEEN (B) g HEmes
(C) STl darE (D) =Ehi HeEd
Which one of the following types describes water as a resource ?
(A) Abiotic resource (B) Biotic resource
(C) Non-renewable resources (D) Cyclic resource

16. Fr=iiciad & & 68 WM W Ygan WAy SHofl L9 e o @ o ? 1
(A)  HIERH (B) T
(C) darge (D) 9 ¥dM¥ 9
On which station out of the following, the First Atomic Station was set up ?
(A) Kalpakkam (B) Narora
(C) Tarapur (D) Rana Pratap Sagar

5613/(Set : A)/ 1l P.T.O.
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(6) 5613/(Set

17. 3o dio Elo Yo MHfiag & § g de & aiig B ?

18.

19.

(A) TG e e g
(B) HHaQ S e S
(C) THiad BN ferepre SR

(D) T qRae faswE SuH

I. T. D. P. refers to which one of the following ?

(A) Integrated Tourism Development Programme
(B) Integrated Tribal Development Programme
(C) Integrated Travel Development Programme

(D) Integrated Transport Development Programme

T 2001 H SO % AFAR, ARG H e Ffarad § § dH-81 & 7
(A) 102.8 Fe

(B) 318.2 Fe
(C) 328.7 e
(D) 2 &g

India's population as per 2001 census is :
(A) 102.8 Crore
(B) 318.2 Crore
(C) 328.7 Crore

(D) 2 Crore

HH-T1 FRE [ § affea g e ?

(A) &SR (B) uRae
(C) &R (D) I

Which factor is not included in exchange ?
(A) Trade (B) Transport

(C) Communication (D) Salaries

5613/(Set : A)/ I
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(7) 5613/(Set : A)

20. 3 FM fFH I= RO AR &R /e F=9T FAII Bl 8, FBA © 1
(A) fedie Frampam (B) =Y e
(C) 9™ ke (D) Yo feharha
Jobs that involve high degrees and level of Innovations are known as :
(A) Secondary activities (B) Quaternary activities
(C) Primary activities (D) Quinary activities
21. 5 o0 § 7O Y@ @ A A e ot § 7 1
(A) 3TEH (B) f&&R
(C) S (D) A G
Which State has the highest percentage of people below poverty line ?
(A) Assam (B) Bihar
(C) Odisha (D) Madhya Pradesh
22. FHHA-G TR TH YAEAH TR & ? 1
(A) @ (B) dRIOrE
(C) T (D) TMHR

Which is an administrative town ?

(A) Surat (B) Varanasi
(C) Karnal (D) Gandhinagar
23. fHige i & T e = & Rafy B ? 1
() fer (B) ohfeam
(C) FRE"S (D) BAHTG

In which State is Kiriburu mine located ?

(A) Bihar (B) Odisha
(C) Jharkhand (D) Chhattisgarh
5613/(Set : A)/ I P.T.O.
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24.

25.

26.

27.

28.

29.

30.

(8) 5613/(Set
HOR # w99 o1 Seer gie X e 7edd ¥ § 7

Which Continent has the highest growth rate of population in the World ?

qaiias R e dee | Hefid § ?

To which sector do tertiary activities are related ?

fasa & 999 SIfe SMEE aml TR -9 © 7
Which is the largest populated town of the World ?

AT § eell QO SIOET 9 &3 7

When was the first complete census held in India ?

s g wate et & 9m foe

Name any two primary activities.

R 5 @it @l e ' ?

To which category of activities does Trade belong ?

P G QT BT & | § ST S o 7

Which mineral is called 'Brown Diamond'.

5613/(Set : A)/ I
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CLASS : 12th (Sr. Secondary) Code No. 5613
Series : SS-April/2022
Roll No. SET : B

T

GEOGRAPHY
HT-1
PART -1
(sTrts mee)
(Subjective Questions)
ACADEMIC/OPEN

[ &=l ud oSl Hregw ]
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

77T : 2L g72] [ g% : 60 (AFT-1 : 30, AFI-II : 30)
Time allowed : 21 hours] [ Maximum Marks : 60 (Part-I : 30, Part-II : 30)

ge-9= & AR # i ¥ : A1 (STES) w6 - (ﬁ%ﬁqﬂmaﬁtﬁwﬁ%nﬁ
% I B AU I YR § @ 81 990 B OAFHL AT B W Ued SR-gRas
3 e fRar o qur AE-1L % e SRl @ uw €2 @ Wy A Sem srafg wher we
BN % geT qd qdemel St w1 & geE-us Rar smem

-1 % 999-99 & g 10 U @& 9FHII & J¥9-T § Fo 30 U 2

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 10 and of Part-II are 30.

o P I F T B G 5 99799 § GRa g2 4 a9 797 10 8

Please make sure that the printed pages in this question paper of Part-I are 4 in
number and it contains 10 questions.

5613/(Set : B)/ | P.T.O.
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(2) 5613/(Set : B)
T97-Y5 7 qle &1 @ AT 79 T4 #S TR T @ B G F-YEIH % FI-IT T [0G)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FYI T H T[0T @ 7 7 e, JIT B BHH AT (1G]

Before beginning to answer a question, its Serial Number must be written.
FACGaH & & 4 @l g1/ 91 7 851

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SIfaRET @ o e T& A ST sleaEdgar & @ siv frar gav T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gereff sTaar T To FIT-UH T 9T [ord)

Candidates must write their Roll Number on the question paper.

Gy 497 F AT 37 @ Y@ 98 GEa F o [ 9T U 7 T8l 8, qOer % IYUT 59
G 5 g 4 @ w@hwre T A am

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :

(i) & FoT SAvar &

All questions are compulsory.
(i) HEF FIT & 37F 3B QT a9 TT 8

Marks of each question are indicated against it.
(iii) 3TY% FAT STEITAT &7 T

Your answer should be according to marks.

5613/(Set : B)/ |
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(3) 5613/(Set : B)

1. Taq Q9T e $ Ghed T Sl IReNa H] 2

Define the concept of sustainable development.

2. T 1 & ? 2

What is Tourism ?

3. ‘T fog aRaAr @ E ? 2

What are 'wet point settlements' ?

4. SEEN gie W P Fed § ° 2

What is growth rate of population ?

5. HE Holl 1 8 ! R & TH@ A0 ol deal & A9 | 3
What is Nuclear Power ? Mention the important nuclear power stations in
India.

6. A & UIHTHOT &l ARAT HifoT| 3

Explain Naturalization of Humans.

7. 979 & 9 oo § fasna amivr SHEEn ® 7 ganl fasne I e & e Saket
0% HRI A [y 3

Which States have large rural population in India ? Give one reason for such
large rural population.

8. IRET TR F1 B & ? 9k 99 HE & B 7 3

What are Garrison towns ? What is their function ?

5613/(Set : B)/ | P.T.O.
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9. HRA % S g9 Hl TH-ET AT HI| 5
Analyse State-wise population density of India.
YT
OR
AT % [T 911 GRaRt & sirmfers faaeer &1 faaser Sl

Describe the geographical distribution of different language families in India.

10. SHifhehid HhHOT Tl bl @7 Faest i fader aifom 5
Describe three stages of Demographic Transition Theory ?
AYAT
OR
ANE faehE & ¢ & Hl IaTeR0 Higd v it

Describe the four Pillars of Human Development with examples ?

5613/(Set : B)/ |
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CLASS : 12th (Sr. Secondary) Code No. 5613
Series : SS-April/2022

Roll No. SET : B

T

GEOGRAPHY
HAT - 11
PART - II

(g 9%)

(Objective Questions)
ACADEMIC/OPEN
[ o=l wd sl A |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

o FUA FT F T [ G % 59 J97-97 § FRT g 8 T4 797 30 &

Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 30 questions.

o gheEreff 7T T To FIT-UH T 9T [ord)

Candidates must write their Roll Number on the question paper.

o U F97 F FAT &7 @ g7 98 GARGT FC A [ G797 {7 T Fel 8, qher F YU 59
T 7 g 4 arar w&hHN T8 RAr Aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G (7397 -
General Instructions :

() @ g7 IEar &

All questions are compulsory.

5613/(Set : B)/ I P.T.O.
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(2) 5613/(Set : B)

(i) 3797 @& 1 @ 23 T% JgHEHT F97 81 KT 7T F% fawedl § § 0% @@ Fav g

797 G 24 @ 30 7% TGS F97 & JE9% F IAT 9% T @ A= T TF
o) g% 997 1 3% & &1 el FT YA Fae-Gikmr [

Question Nos. 1 to 23 are multiple choice type questions. Choose the one
correct answer from given four options. Question Nos. 24 to 30 are objective
type questions. The answer of each question may be given in one or two
words or sentences. Each question carries 1 mark. Write correct answer in

your answer-book.

1. fhEd Ta-Fafqar & gfqaes e ? 1
(A) Bt 2 B) Rex
(C) = (D) &fdres
Who proposed the concept of Neo-determinism ?
(A) Griffith Taylor (B) Ritter
(C) Blache (D) Huntington
2. IUGET ZT H 6 IUMH BT HFE T F G {7 1
(A) &g gTed (B) SRR fgeer
(C) &= fafrar (D) IR
Which approach of Human Geography was followed in colonial period ?
(A) Spatial organisation (B) Regional analysis
(C) Areal differentiation (D) Behavioural
3. I=A 4 guhih B W A8 ? 1
(A) 0.6 § I (B) 0.7 § IW
(C) 0.9 § W (D) 0.8 § W
What is the score of high development index ?
(A) Above 0.6 (B) Above 0.7
(C) Above 0.9 (D) Above 0.8

5613/(Set : B)/ I
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4. 59 TREY ¥ SMEE ghe X waiE § 1
(A) TR (B) ThieHl
(C) I (D) effeferan
Which continent has the highest growth rate of population ?
(A) Asia (B) Africa
(C) Europe (D) Australia
5. frfafad & & $iF-91 0 foxa Sween e &5 787 8 7 1
(A) TR (B) HHEREE e
(C) aRer-gdl ufmn (D) g9 e
Which one of the following is not an area of sparse population ?
(A) The Atacama (B) Equatorial Regions
(C) South-East Asia (D) Polar Regions
6. fr=ifeiead d & HiF-|1 g & wara au 8 ? 1
(A) TR ¥ & (B) TN ¥ oAb URecH
(C) R H Rexar (D) TN & @mER gRads
Which one of the following best describes development ?
(A) An increase in size (B) A positive change in quality
(C) A constant in size (D) A simple change in the quality
7. M= A @ -6 & B 7@ o ? 1
() =T P (B) i3 iy
(C) T B (D) afer STt F
Which one of the following does not follow monoculture ?
(A) Diary farming (B) Mixed farming
(C) Plantation agriculture (D) Commercial grain farming
5613/(Set : B)/ I P.T.O.
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8. Tah Fhamhey fFe #RE WX MR & ? 1
(A)  FHE (B) AU
(©) wd (D) S
Tertiary activities depend on :
(A) Skill (B) Machinery
(C) Factory (D) Production

9. 3Rl sMRe # waifie SHEE a/ TR HH-91 & 1
A) RA-fe-s= (B) =TH €
() ¥Herd (D) @Al Ul
Which is the most populated town of South America ?
(A) Rio-de-Janerio (B) Buenos Aires
(C) Santos (D) Sao Paulo

10. 9RG ¥ fHl B e, &l (el SMEe Bl =Ry ? 1

(A) 3000 (B) 4000
(C) 5000 (D) 6000

What is the population of an urban town in India ?

(A) 3000 (B) 4000
(C) 5000 (D) 6000

11. foepradie 3T & SaEn & qEs o & fabe Td srasadsde & O § -9 FE
% TN Hedd § 7 1
A) foa (B) HMAY
(C) s (D) wmHIRS

Sufficiency of which type of resources can help to create adequate social
infrastructure catering to the needs of the large population in the developing
countries ?

(A) Financial (B) Human
(C) Natural (D) Social

5613/(Set : B)/ I
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12. TG ed gadi® (2005) & ded 7 fawg & 39 § 9Ra & Feflfad & § - e

off ? ]
(A) 126 (B) 128
(C) 127 (D) 129

Which one of the following is India's rank in terms of Human Development
among the countries of the world in 2005 ?

(A) 126 (B) 128
(C) 127 (D) 129
13. 9Xd & Fr=Afoiad &= anfaa St § & fhE 06 & qeRar & o © ¢ 1
(A) TEIEY (B) & &R dg
(C) TErE (D) 1v8qH AR MR &9
Which one of the following Union Territories of India has the highest literacy
rate ?
(A) Lakshadweep (B) Daman and Diu
(C) Chandigarh (D) Andaman and Nicobar Islands
14. 9Rd H Ugal Qo7 SO % g3 ° 1
(A) 1871 (B) 1891
(C) 1901 (D) 1881

When was the first complete census held in India ?

(A) 1871 (B) 1891
(C) 1901 (D) 1881
15. 9RA & %9 U9 § qe9 HH Seed 99d © 7 1

(a) B (B) WHawHE
(C) TfrrH (D) STEUEE 9o
Which state has lowest Density of Population in India ?
(A) Tripura (B) Meghalaya
(C) Sikkim (D) Arunachal Pradesh

5613/(Set : B)/ Il P.T.O.
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16. f=ifed & @ H9-81 TR 948 9 | Fared 787 & ? 1
(A) ST (B) 9o
(C) U (D)  eicwehre
Which one of the following towns is not situated along the bank of a river ?
(A) Agra (B) Patna
(C) Bhopal (D) Kolkata
17. B9 X Ae-oige! T 59 adt & Reg & ? 1
(A) W (B) e
(©) g (D) fory
In which valley were Harappa and Mohanjodaro towns located ?
(A) Ganga (B) Narmada
(C) Brahmaputra (D) Indus
18. 9T # i e TR 8 ? 1
(A) S (B) daRIoTEl
(©) I (D) FEE
Which is the most ancient town in India ?
(A) Agra (B) Varanasi
(C) Chennai (D) Hyderabad
19. Y& H TR fbae SR AW ST G T B 7 1
(A) 61% B) 71%
(C) 81% D) 91%

How much-part of earth is covered with water ?
(A) 61% B) 71%
(C) 81% D) 91%
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20. fr=fafed § & wF-a1 @fe ‘g0 &R0 & AW § S S @ 7

B)

1

1

(A) e (B) H
(C) frEe (D) ¥®
Out of the following which mineral is called 'Brown diamond' ?
(A) Iron ore (B) Manganese
(C) Lignite (D) Mica
21. f=iafad § 9 68 @M 0 Tedl WA Sl @A Wi o @ o ?
(A)  SeqeRH (B) T ¥ §FR
(© T (D) TR
On which station out of the following, the first atomic station was set-up ?
(A) Kalpakkam (B) Rana Pratap Sagar
(C) Narora (D) Tarapur
22. NRfrar &1 59 g & TEE e B 7
(A) T B) fer
(C) =raHM (D) FTHS
Which type of age-sex pyramid is of Australia ?
(A) Expanding (B) Constant
(C) Declining (D) Negative
23. @ﬁﬁww%ﬁwWW%mﬁ@%—mmWW
(A) URae famE (B) PN feewrd
(C) WG faehrd (D) 9 IuFEsHE

Which one of the following is the most crucial factor for sustainable

development in Indira Gandhi Canal Command Area ?

(A) Transport development (B) Agricultural development
(C) Eco-development (D) Colonisation of land
5613/(Set : B)/ Il P.T.O.
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24. GIH T I GG A [ Hfcde H TEd o6 ? 1

When did United Nations published its first Human Development Report ?

25. qRd & 9 W9 § A5 HGE AE & ? 1

Which state has the highest number of Buddhists ?

26. G ¥ HN-9 A9 999 s I &’ A St 2 7 1

Which language is spoken by most of people in India ?

27. 1930-1950 & I # A4 TN 7 Hi-8 U JAT Ry 1 ? 1
What were the approaches used in Human Geography in 1930-1950 period ?

28. SUM & HIF-AT ANEFH Y29 &7 §41 2 7 1

Which Industrial Region of Japan is densely populated ?

29. g A ¥ Tehel UK TH Bl FTERT TKT bl 7 1

Which Country introduced Gross National Happiness ?

30. Higs A & @M e T § Raa & 7 1

In which State is Kiriburu mine located ?
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CLASS : 12th (Sr. Secondary) Code No. 5613
Series : SS-April/2022
Roll No. SET : C

T

GEOGRAPHY
HT-1
PART -1
(sTrts mee)
(Subjective Questions)
ACADEMIC/OPEN

[ &=l ud oSl Hregw ]
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

77T : 2L g72] [ g% : 60 (AFT-1 : 30, AFI-II : 30)
Time allowed : 21 hours] [ Maximum Marks : 60 (Part-I : 30, Part-II : 30)

ge-9= & AR # i ¥ : A1 (STES) w6 - (ﬁ%ﬁqﬂmaﬁtﬁwﬁ%nﬁ
% I B AU I YR § @ 81 990 B OAFHL AT B W Ued SR-gRas
3 e fRar o qur AE-1L % e SRl @ uw €2 @ Wy A Sem srafg wher we
BN % geT qd qdemel St w1 & geE-us Rar smem

-1 % 999-99 & g 10 U @& 9FHII & J¥9-T § Fo 30 U 2

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 10 and of Part-II are 30.

o P I F T B G 5 99799 § GRa g2 4 a9 797 10 8

Please make sure that the printed pages in this question paper of Part-I are 4 in
number and it contains 10 questions.
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(2) 5613/(Set : C)
T97-Y5 7 qle &1 @ AT 79 T4 #S TR T @ B G F-YEIH % FI-IT T [0G)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FYI T H T[0T @ 7 7 e, JIT B BHH AT (1G]

Before beginning to answer a question, its Serial Number must be written.
FACGaH & & 4 @l g1/ 91 7 851

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SIfaRET @ o e T& A ST sleaEdgar & @ siv frar gav T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gereff sTaar T To FIT-UH T 9T [ord)

Candidates must write their Roll Number on the question paper.

Gy 497 F AT 37 @ Y@ 98 GEa F o [ 9T U 7 T8l 8, qOer % IYUT 59
G 5 g 4 @ w@hwre T A am

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :

(i) & FoT SAvar &

All questions are compulsory.
(i) HEF FIT & 37F 3B QT a9 TT 8

Marks of each question are indicated against it.
(iii) 3TY% FAT STEITAT &7 T

Your answer should be according to marks.
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1. SHern gis & P8 Fed § 7 2

What is growth rate of population ?

2. FAq N9Ng [IHd H GhHedT Sl RN B 2

Define the concept of sustainable development.

3. W dAe? 2

What is Tourism ?

4. T fog afear @@ 8 ? 2

What are 'wet point settlements' ?

5. IRET TR F1 B & ? IR FT HE B 8§ 7 3

What are Garrison towns ? What is their function ?

6. D ol 1 8 P WRA & TG AN ol el ® AW @ 3
What is Nuclear Power ? Mention the important nuclear power stations in
India.

7. | ® UTHHOT S ARAT HifoT 3

Explain Naturalization of Humans.

8. 9Rd & [ weul H fasna mior SHEE ® ? oWl fasne I SeEen & e Saet
0% BRI A [y 3

Which States have large rural population in India ? Give one reason for such
large rural population.

5613/(Set : C)/ | P.T.O.

Downloaded from cclchapter.com



(4) 5613/(Set : C)

9. HHq [ & ¢ &l P ST Aled qU HiTl 5
Describe the four Pillars of Human Development with examples ?
AYAT
OR
STifehehid Th T @l &7 SRS Hl fGde Sl

Describe three stages of Demographic Transition Theory ?

10. 9T & R o1 aRaRt & A R & ferer ff) 5
Describe the geographical distribution of different language families in India.
AYAT
OR
AT %l TS g bl ToF-E0E 9T |

Analyse State-wise population density of India.
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CLASS : 12th (Sr. Secondary) Code No. 5613
Series : SS-April/2022

Roll No. SET : C

T

GEOGRAPHY
HAT - 11
PART - II

(g 9%)

(Objective Questions)
ACADEMIC/OPEN
[ o=l wd sl A |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

o FUA FT F T [ G % 59 J97-97 § FRT g 8 T4 797 30 &

Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 30 questions.

o gheEreff 7T T To FIT-UH T 9T [ord)

Candidates must write their Roll Number on the question paper.

o U F97 F FAT &7 @ g7 98 GARGT FC A [ G797 {7 T Fel 8, qher F YU 59
T 7 g 4 arar w&hHN T8 RAr Aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G (7397 -
General Instructions :

() @ g7 IEar &

All questions are compulsory.
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(i) 597 F@T 1 & 23 % FGAEBHAT F97 81 RT TG AT fFwed § @ g @l Fav g

797 GEr 24 G 30 7% aegiTS Fo7 81 J9% H AT GF A & A= T AF H
dforg1 9% 797 1 3% @ 81 §el FAT A Fae-greaH 4 [

Question Nos. 1 to 23 are multiple choice type questions. Choose the one
correct answer from given four options. Question Nos. 24 to 30 are objective
type questions. The answer of each question may be given in one or two
words or sentences. Each question carries 1 mark. Write correct answer in
your answer-book.

1. fFrfafed & | S9-81 06 J9d A & ST 78 & 7 1
(A) &= ol (B) HETHH I
(C) wnih e (D) 3TN &R Ui
Which one of the following is not an approach in Human Geography ?
(A) Areal differentiation (B) Quantitative revolution
(C) Spatial organisation (D) Exploration & description
2. HAIGS 999 A H fhe Susmer § d@efee © ? 1
(A) EHISTS T (B) THIE M
(C) oni¥is et (D) ST
To which field of Human Geography does Psychology belong ?
(A) Social Geography (B) Urban Geography
(C) Economic Geography (D) Population Geography
3. g & =0 aiiy® MG i axl ¥ fasq SHEe & fha gfad 9w § ? 1
(A) 50% (B) 60%
(C) 70% (D) 80%
The ten most populated countries have World Population :
(A) 50% (B) 60%
(C) 70% (D) 80%
4. fasg ¥ waifte SEE e a9 HE-91 © 7 1
(A) T (B) @4
(C) =M (D) S
Which is the most Populated Country ?
(A) India (B) Russia
(C) China (D) Germany

5613/(Set : C)/ I
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5. @ #erdy § fefmgu &5 8 ? 1
(A) I (B) effeferan
(C) Sad emfRe (D) TRwE
In which Continent, low sex ratio is found ?
(A) Europe (B) Australia
(C) North America (D) Asia
6. HMY faH® & HH-41 9 g 78 & 7 1
(A) Rl T UEa (B) STH @R
(C) famm (D) SERNT [
Which is not a key area of human development ?
(A) Access to resources (B) Good health
(C) Education (D) Industrial development
7. HF-H1 Y ANE (O e § O § ed ®H W e 7 1
(A)  eTrEfeE (B) el
© (D) SR
Which country ranks first in world in Human Development Index ?
(A) Australia (B) Canada
(C) Norway (D) Germany
8. frfoed & & Frem dg9 oRE oMa & R orgum & T foan & 7 1

(A) T5Y HR SEE & b A
(B) Y&W #l I= SH &
(C) Tl & fr= o &Y
(D) el @1 S=a S

5613/(Set : C)/ Il P.T.O.
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Which one of the following has caused the sex ratio of United Arab Emirate to
be low ?

(A) Selective migration of male working population
(B) High birth rates of males
(C) Low birth rates of females

(D) High out migration of females

9. frfiiad & @ fpe werEy # SeeE ghg |aif® & ? 1

(A)  STHIH (B) ufsm
(C) TfereT STHTER (D) AT SRR
Which one of the following continents has the highest growth of population ?
(A) Africa (B) Asia
(C) South America (D) North America

10. freifefed & | H-81 U Qs gad & 9d 78§ ¢ 1
(A) AT B fFER (B) Y™ HMeH
(C) =W q Iger Tt & T (D) 9N HerheA

Which one of the following is not a source of Geographical Information ?
(A) Travellers accounts

(B) Old maps

(C) Samples of rock materials from the moon

(D) Ancient epics

11. 7= & § Si9-4 A0 w899 787 © 7 1
(A) (B) =
©) (D) S
Which one of the following is not a plantation crop ?
(A) Coffee (B) Sugarcane
(C) Wheat (D) Rubber

5613/(Set : C)/ I
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12. Fr=fafad 9 @ sF-a1 Pharka agd 89 4 g=fad & 7
(A) T fafE (B) fesafeemesh stemgs
(C) &F 3R =l el T (D) J&RH & J&o

Which one of the following activities is related to quarternary sector ?

(A) Manufacturing Computers (B) University Teaching

(C) Paper and Raw Pulp Production (D) Printing Activities

13. 2006 % U9 § 9Rq ¥ fohaq ffees & 9 7
(A) 40 (B) 41
(C) 42 (D) 43

1

How many of the following Cities in India have attained the million status at

the beginning of 2006 ?

(A) 40 B) 41
(C) 42 (D) 43
14. -9 S« gfoey 9 & | e e
(A) STEAEER (B) Pyt
() a® (D) TR & AR
Which settlement pattern is found along coasts ?
(A) Rectangular (B) Triangular
(C) Linear (D) Star like
15. fasq § qaifte SEE adl TR HiH-91 & ?
(A) Hfr (B)
(©) @& (D) T=&
Which town has the largest population in the World ?
(A) Mexico City (B) Tokyo
(C) London (D) Mumbai
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16. ARG & F=Afcad dHessmiee Sesn § & Fhe T &l SeRa &Y =¥ & ¢ 1
(A) TerEN (B) & AR 24
(C) TSNS (D) STvEHN R R g
Which one of the following Union Territories of India has the highest literacy
rate ?
(A) Lakshadweep (B) Daman and Diu
(C) Chandigarh (D) Andaman and Nicobar Islands

17. Frefafad & @ HH-91 06 S8 9Rd § a9y 9wE 99 § 7 1
(A) = fereet (B) i
(©) = o (D) =g
Which one of the following is the largest language group of India ?
(A) Sino Tibetan (B) Austric
(C) Indo-Aryan (D) Dravidian

18. AMY [ Tohi® § 9RG & Frefarad T § 68 0F #i Hifc Iz o ? 1
(A) dfEeTg (B)
(C) T (D) &Ramm

Which one of the following States of India has the highest rank in the Human
Development Index ?

(A) Tamil Nadu (B) Kerala
(C) Punjab (D) Haryana
19. Saig femi # f6E yeR @ R fad 7 1
(A) e (B) ore-TfEa
() il (D) RfEr
Which types of settlements are found in alluvial plains ?
(A) Clustered (B) Semi Clustered
(C) Hamleted (D) Dispersed
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20. Fr=faRad & § TR & HH-91 & A0 TEIRFHH & ATAR HASS © ¢ 1
(A) Feq T, R, HiwA, A9 (B) Rell, ged qw=E, A=13, B
(C) icTbre, & s, A1y, facal (D) Ted g, Hicibr, e, a3

Which one of the following group of cities have been arranged in the sequence
of their ranks ?

(A) Greater Mumbai, Bengaluru, Kolkata, Chennai
(B) Delhi, Greater Mumbai, Chennai, Kolkata
(C) Kolkata, Greater Mumbai, Chennai, Delhi
(D) Greater Mumbai, Kolkata, Delhi, Chennai

21. frfafed § § o9 B9 96R & e © 7 1
(A) ST gaEs (B) o9 TEmeN
(C) TR FEE (D) =hIA GHE
Which one of the following types describes water as a resource ?
(A) Abiotic resource (B) Biotic resource
(C) Non-renewable resource (D) Cyeclic resource

22. 9Rd ¥ fag & T GaEE @ fhaw ofqed 9 2 7 1
(A) 1% B) 2%
(C) 3% (D) 4%
What is the share of India in worlds water resources ?
A 1% B) 2%
(C) 3% (D) 4%

23. frfaied & & fpg o9 § 9@ dq & Raa 8 7 1
(A) STEH B) USTEH
(C) fwr (D) dfferTg
Which out of the following states has major oil fields ?
(A) Assam (B) Rajasthan
(C) Bihar (D) Tamil Nadu

5613/(Set : C)/ Il P.T.O.
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24.

25.

26.

27.

28.

29.

30.

(8) 5613/(Set
4 e T M g e el ?

Who wrote the book 'The Limit to Growth' ?

qRG & 59 9 § A5 g ftes & ?

Which state has the highest number of Buddhists ?

WA wed o fomge e e § R 7

Which state has the highest sex ratio in India ?

HYHI ST A HY GAYH A b gfdae gegd e ?

When did United Nations published its first Human Development Report ?

I IR & 999 98 HeMR H 9 Ty

Name the largest Metropolitan City of Uttar Pradesh.

Zfethen U= 1 o1 A B ?

What does word Idiographic mean ?

YT ¥ Tl Ted 9 -1 § 7

Which is the most urbanized state of India ?
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CLASS : 12th (Sr. Secondary) Code No. 5613
Series : SS-April/2022
Roll No. SET : D

T

GEOGRAPHY
HT-1
PART -1
(sTrts mee)
(Subjective Questions)
ACADEMIC/OPEN

[ &=l ud oSl Hregw ]
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

77T : 2L g72] [ g% : 60 (AFT-1 : 30, AFI-II : 30)
Time allowed : 21 hours] [ Maximum Marks : 60 (Part-I : 30, Part-II : 30)

ge-9= & AR # i ¥ : A1 (STES) w6 - (ﬁ%ﬁqﬂmaﬁtﬁwﬁ%nﬁ
% I B AU I YR § @ 81 990 B OAFHL AT B W Ued SR-gRas
3 e fRar o qur AE-1L % e SRl @ uw €2 @ Wy A Sem srafg wher we
BN % geT qd qdemel St w1 & geE-us Rar smem

-1 % 999-99 & g 10 U @& 9FHII & J¥9-T § Fo 30 U 2

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 10 and of Part-II are 30.

o P I F T B G 5 99799 § GRa g2 4 a9 797 10 8

Please make sure that the printed pages in this question paper of Part-I are 4 in
number and it contains 10 questions.
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(2) 5613/(Set : D)
T97-Y5 7 qle &1 @ AT 79 T4 #S TR T @ B G F-YEIH % FI-IT T [0G)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FYI T H T[0T @ 7 7 e, JIT B BHH AT (1G]

Before beginning to answer a question, its Serial Number must be written.
FACGaH & & 4 @l g1/ 91 7 851

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SIfaRET @ o e T& A ST sleaEdgar & @ siv frar gav T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gereff sTaar T To FIT-UH T 9T [ord)

Candidates must write their Roll Number on the question paper.

Gy 497 F AT 37 @ Y@ 98 GEa F o [ 9T U 7 T8l 8, qOer % IYUT 59
G 5 g 4 @ w@hwre T A am

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :

(i) & FoT SAvar &

All questions are compulsory.
(i) HEF FIT & 37F 3B QT a9 TT 8

Marks of each question are indicated against it.
(iii) 3TY% FAT STEITAT &7 T

Your answer should be according to marks.
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1. ‘9 forg aRaar @@ § ? 2

What are 'wet point settlements' ?

2. SEEN gha X fRY Fed ©§ 7 2

What is growth rate of population ?

3. T N9olg [ $ Ghed T Sl IRAING R 2

Define the concept of sustainable development.

4, W AR ? 2

What is Tourism ?

5. 9 & [ woal & fasna aedior Seeen ® ? saen foure g Seeen & o SerE
g% ®R & g 3

Which States have large rural population in India ? Give one reason for such
large rural population.

6. AT TR F1 819 & ? T 941 HF 2l 8 7 3

What are Garrison towns ? What is their function ?

7. TG S 2 P NRA & TG AN S el @ AW | 3
What is Nuclear Power ? Mention the important nuclear power stations in
India.

8. HMd % UIHHOT &l HREAT HifoT| 3

Explain Naturalization of Humans.

5613/(Set : D)/ | P.T.O.
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9. HRA % S g9 Hl TH-ET AT HI| 5
Analyse State-wise population density of India.
YT
OR
AT % [T 911 GRaRt & sirmfers faaeer &1 faaser Sl

Describe the geographical distribution of different language families in India.

10. SHifhehid HhHOT THaie bl @7 SFaenst i fader sl 5
Describe three stages of Demographic Transition Theory ?
AYAT
OR
UNE faehE & ¢ & Hl IETeR0 |igd dauie i

Describe the four Pillars of Human Development with examples ?
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CLASS : 12th (Sr. Secondary) Code No. 5613
Series : SS-April/2022

Roll No. SET : D

T

GEOGRAPHY
HAT - 11
PART - II

(g 9%)

(Objective Questions)
ACADEMIC/OPEN
[ o=l wd sl A |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

o FUA FT F T [ G % 59 J97-97 § FRT g 8 T4 797 30 &

Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 30 questions.

o gheEreff 7T T To FIT-UH T 9T [ord)

Candidates must write their Roll Number on the question paper.

o U F97 F FAT &7 @ g7 98 GARGT FC A [ G797 {7 T Fel 8, qher F YU 59
T 7 g 4 arar w&hHN T8 RAr Aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G (7397 -
General Instructions :

() @ g7 IEar &

All questions are compulsory.
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(i) 3797 @& 1 @ 23 T% JgHEHT F97 81 KT 7T F% fawedl § § 0% @@ Fav g

797 G 24 @ 30 7% TGS F97 & JE9% F IAT 9% T @ A= T TF
o) g% 997 1 3% & &1 el FT YA Fae-Gikmr [

Question Nos. 1 to 23 are multiple choice type questions. Choose the one
correct answer from given four options. Question Nos. 24 to 30 are objective
type questions. The answer of each question may be given in one or two
words or sentences. Each question carries 1 mark. Write correct answer in

your answer-book.

1. 79 & 9 3-8 d 39 78 o 7 1
(4) =7 P (B) i3 iy
(C) T By (D) @ ST Y
Which one of the following does not follow monoculture ?
(A) Diary farming (B) Mixed farming
(C) Plantation agriculture (D) Commercial grain farming
2. Tad frameay fhE HRe W MR 7 1
(A)  FeTeT (B) AL
(©) wd (D) S
Tertiary activities depend on :
(A) Skill (B) Machinery
(C) Factory (D) Production
3. Rl oWRe § waiad S gl TR BHE-91 & ¢ 1
(a) RA-fE- (B) 7€ Fd
() ¥Her™ (D) e el
Which is the most populated town of South America ?
(A) Rio-de-Janerio (B) Buenos Aires
(C) Santos (D) Sao Paulo

5613/(Set : D)/ I
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4. ARG ¥ fpdl w0 &, B ol SEE Bl =Ry ? 1
(A) 3000 (B) 4000
(C) 5000 (D) 6000
What is the population of an urban town in India ?
(A) 3000 (B) 4000
(C) 5000 (D) 6000

5. fomasha st @ e & amie e & fawr wd sasawdntt @ it § -8 TR
% HQE HEEF § 7 1
(Aa) foim (B) wHEHE
(C) MTpicih (D) AT
Sufficiency of which type of resources can help to create adequate social
infrastructure catering to the needs of the large population in the developing
countries ?
(A) Financial (B) Human
(C) Natural (D) Social

6. AT [ GIE® (2005) & Hadt § fgg & 29 § 9RG H Ffarad § § HE-91 e
7 1
(A) 126 (B) 128
(C) 127 (D) 129
Which one of the following is India's rank in terms of Human Development
among the countries of the world in 2005 ?
(A) 126 (B) 128
(C) 127 (D) 129

7. e Ta-FRidarE # giiures e ? 1
(A) BiftT I (B) ReX
(C) ST (D) &fewe
Who proposed the concept of Neo-determinism ?
(A) Griffith Taylor (B) Ritter
(C) Blache (D) Huntington

5613/(Set : D)/ Il P.T.O.
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8. IUMAY I F 9 IUFMH HN A T § FANT febam 4w ? 1
(A) &g e (B) HRfr fasaor
(C) &= fafrar (D) IR
Which approach of Human Geography was followed in colonial period ?
(A) Spatial organisation (B) Regional analysis
(C) Areal differentiation (D) Behavioural
9. I G gadi® & @I 1 8 ? 1
(A) 0.6 § I (B) 0.7 § I
(C) 0.9 § W (D) 0.8 § K

What is the score of high development index ?

(A) Above 0.6 (B) Above 0.7
(C) Above 0.9 (D) Above 0.8
10. fFH WREN # SHHer gfs ) |t © 7 1
(A) Tl (B) SThIH
(©) Zu (D) srefrm
Which continent has the highest growth rate of population ?
(A) Asia (B) Africa
(C) Europe (D) Australia
11. Fr=fafad § & -1 06 fRa S a8 78 o ¢ 1
(A)  STETRMT (B) HERENE Yau
(C) aRrr-gat TR (D) A= F=a
Which one of the following is not an area of sparse population ?
(A) The Atacama (B) Equatorial Regions
(C) South-East Asia (D) Polar Regions
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=g & @ @F-a1 faee @1 99y 9o & °?

1

(A) TR ¥ & (B) TN ¥ geIcHsh URecH

(C) R F Rerar (D) IO # |rEmer giec

Which one of the following best describes development ?

(A) An increase in size (B) A positive change in quality
(C) A constant in size (D) A simple change in the quality

fretfeiied & | $F-91 Th qFEG TN H IJUFH 78 8 7

(A) &= TR (B) HETH® I

(C) wnis e (D) ST &R Ui

Which one of the following is not an approach in Human Geography ?
(A) Areal differentiation (B) Quantitative revolution
(C) Spatial organisation (D) Exploration & description
TS A T e Susmen § Heid ©

(A) HHEISTE I (B) TTHIE T

(C) i st (D) SFEE T

To which field of Human Geography does Psychology belong ?

(A) Social Geography (B) Urban Geography

(C) Economic Geography (D) Population Geography
fosa & &9 walits See a asi & fgg SEe & e giied 9 e ?
(A) 50% (B) 60%

(C) 70% (D) 80%

The ten most populated countries have World Population :

(A) 50% B) 60%

(C) 70% (D) 80%

fogg & waifees STEEAT A 3 HIF-91 © ¢

(A) T (B) &4

(C) 9 (D) ST

Which is the most Populated Country ?

(A) India (B) Russia

(C) China (D) Germany
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o werEly & g &9 B 7

(A) (B) siegfern
(C) I AR (D) TR

In which Continent, low sex ratio is found ?

(A) Europe (B) Australia
(C) North America (D) Asia

qe faemE & BA-a gd fag 78§ 7

(A) el 9% qed (B) W W

(C) famm (D) SERNT [

Which is not a key area of human development ?

(A) Access to resources (B) Good health

(C) Education (D) Industrial development

PIF-T1 39 A [ i 7 fsg § vew @M W B 7

(A)  SEf (B) HT

© (D) ST

Which country ranks first in world in Human Development Index ?
(A) Australia (B) Canada

(C) Norway (D) Germany

frefofed & & frem d@ge ord ofiia & o ergua &1 T fean B 7
(A) 959 FHrEslic SHEEA H T A

(B) Y&l &l I==F S &
(C) Tt & 1 s X
(D) el @1 S=a Ia™
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Which one of the following has caused the sex ratio of United Arab Emirate to
be low ?

(A) Selective migration of male working population
(B) High birth rates of males
(C) Low birth rates of females

(D) High out migration of females

21. F=farea & & 60 9eE § SHae ghs aiis 7 1
(A)  STBRR (B) i
(C) TfereT STHTER (D) AT SRR
Which one of the following continents has the highest growth of population ?
(A) Africa (B) Asia
(C) South America (D) North America

22. Frefaied & @ @S-8 Th AN Go H A 78 © 7 1
(A) AT B fFER (B) Y™ HMeH
(C) =W | Fger Tt & T (D) 9N HerheA

Which one of the following is not a source of Geographical Information ?
(A) Travellers accounts

(B) Old maps

(C) Samples of rock materials from the moon

(D) Ancient epics

23. = & § -9 AU HHA T § ? 1
(A) (B) =
©) (D) S
Which one of the following is not a plantation crop ?
(A) Coffee (B) Sugarcane
(C) Wheat (D) Rubber
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qRd & HF-dl 99 999 AfeeE @ g Sl S ® 7

Which language is spoken by most of people in India ?

UM B HIF-G1 AN T8989 991 & °

Which Industrial Region of Japan is densely populated ?

frlige iR &l @ e T | R B 7

In which State is Kiriburu mine located ?

YT ¥ Tl THEa 9 -9 © 7

Which is the most urbanized state of India ?
WA wed ot fomge e e J R 7

Which state has the highest sex ratio in India ?

4 e T MY g e ol
Who wrote the book 'The Limit to Growth' ?

I IR & 999 98 HeMR H 9 iU

Name the largest Metropolitan City of Uttar Pradesh.
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